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CMuovotuer, crragenui 3 0guomenid omargapmuoeo fuansgy, oopeg skux wmae nogiduux,
HaBLlaIOME MHO2ONOHOM OVaRGAPIHOD0 4 oAsgy.

TIpHK/Ia M MHOTOWIEHIB CTaHlapTHOTO BHRAAAY. XV~ +x”y; 2a’h;5.

Sayaamo mo MHoro4y1eH 3bab?+a-5+ a-2b? —a He € MHOrO4IEHOM cTtaHjapTHoro Buraagy. llpore
'ﬁoro mmma nepemopm‘n B momqnen c‘.ralmap“moro Bnmmw 'ramm YHHOM 3allHCATH B CTAHJAPTHOMY

Qw0 cepeg 0guobaenil, 3 skux CKAGUEMLOS MHOPCIEH, € KOGk, MO ix HABLBaIOME KOGIShme vttt
MHODO NG,

Qlampucag, y miwooorwaeni 7a°h —3a+4 —a’b — 1+ a+b  nogidui wiwnw fugiveni oguum kossopom.

Bukopuomobyovu npabuo sbsgeuns nogiduux gogumki, onpocmemo ysis mHOv0bH:
7a’b—3a+4—-a*b—1+a+b=6a’h—3a+b+3.

Make onpougpuns: nasubarome sbegenusm nogiduux wuerid muooormena. Up nepembopeuns gue 3mozy saminumu
HOVOMBH Al OMOIHKO ikt GOMY, Qb NPOOMiUuLG — 3 MORULOK KinbKiomIO wiil.
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HOo20UNeHA
5 1) 5x%2—10x+9—2x%2+14x—-20= «x

2 2) —m® +2m* — 6m5 + 12m® — 18m°® = St 2mt —

3)6x%y —xy? —8x%y + 2xy’ —xy+7=— x’y+ xy’-—



